
It will be much easier to have a extra pair of hands to help.

Cover and protect your bike front fender with a nice soft, thick towel.

Bolt the included two (2) M10 screws through the highway bar upper mounting bracket and the two (2) spacers 
to the 2 holes where the horn is mounted. These 2 bolt locations are just underneath the horn.

Bolt the included two (2) M10 screws through the highway bar and the lower frame rails, secure these screws 
with the nuts.

You are ready to show off. Enjoy!

1.

2.

3.

4.

5.

Installation Instructions
mcustomcycles.com Highway Bar for Steel Frame bikes

www.mcustomcycles.com 01/2022
Ben Lau
Product Designer

Thank you very much for your purchase. We hope our product will bring you years of enjoyment! Now, 
let’s put it onto your bike. The assembly should be easy with simple household tools.

M10 screw
(2)

M8 screw
(2)

M10 nut
(2)

Spacer
(2)

Included hardware

TowelMetric hex
key set

Tools you may need

Spacer

M8 screw

M10 screw

Luxor Highway Bar Outlaw Highway Bar

M10 nut

Hand ratchet

Horn

** This instruction applies to Luxor Highway Bar and
     Outlaw Highway Bar. These type of highway
     bars won’t �t 2003-2007 models.

M10
screw


